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kinetic energy of 600J experiences a constant
opposing force of 100N while moving from P to Q (when PQ = 3m). The energy of the object
at Qis:/

600 3 P TTfasT Sl § Aferst F THiR fezm & Tfaw axg P ¥ Q (W19 PQ = 3#)) I@A
TR 100N F FARaR faRieht 96 &7 Sgya HRet 81 Q WR axg Bl el 8

1. 500J
2. 750
3.300J
4. 400J

Correct Answer :-

« 300J

The acceleration due to gravity on a planet is 0.98 m/s2. If it is safe for a man to jump from
a height of 2m to the earth, then the corresponding height from which he can jump to that
planet will be [g on earth is 9.8 m/s?2]:

TS I8 W o & HIRUT R01 0.98 WA ¢ 1 afe 77ed & forg 2+t 6t S 4 el R
TET PRI 7, T 98 GEIHR $HATS 1or9d 98 S 98 R §§ Gl 5, 1 gRft: (gt
W g, 9.8 HI/A2 g

1.8m/8H

2.15m/ 154t

3.20m /20 Af
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Correct Answer :-

« 20m /204

3) The acceleration due to gravity on the surface of earth is ‘g’ m/s2. The magnitude of the

acceleration due to gravity in m/s? on the surface of a planet whose mass and radius are half
those of earth: /

Gl 1 T8 WR TFd & SR ERL, ‘g’ m/s? 8 | gt 1 et s 8iv 3ne) geqw=
1A TP T DI G UR m/s2 B @ b HIRUT @30T BT GRATOT G

1. 4g

4) The percentage of errors in the measurement of length and time period of pendulum is
1% and 2% respectively. Then maximum error in the measurement of acceleration due to
gravity is /

YgoH 1 dars SR 3MMad HTa & AU § Ffeal o1 ufa=ra HH=r: 1% MR 2% 81 bR
TP ThYUT & BTN @R U1 & ATGH | ffrpan Ffe grft

1. 6%
2. 4%
3.5%

4. 3%

Correct Answer :-

5%

5) The respective ratio of the resistance of 60W and 40W bulbs of the same rated voltage is: /

T ¥¢S dieed arel 60W 3R 40W & Ieqa] & UlaR I BT ST SHHRT: B

1.9:4
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e BT 9Ted 1IT/AHS 81 S.I UuTTelt § SHST HIH &
1.1073 kg/m3

2.10°° kg/m3

3.10° kg/m3

4. 13600 kg/m?3

Correct Answer :-

TChe pene_t];atjng power of X-ray increases with the increase in its /
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1. wavelength / GRSl %‘?ﬁ
2. intensity / GIEGI

3. frequency / &WE{%

4. velocity / aT

Correct Answer :-

« frequency / 3‘|'I_Cﬂ%f

9) A body of mass 10 kg at rest is acted upon simultaneously by two forces 4N and 3N at
right angles to each other. The Kkinetic energy of the body at the end of 10s is: /

R IR 3@ 10 T Sora™ a1 T AP IR UH-gI & GHSBIV IR 4N SR 3IN B &
6 TP A1 TR &1d &1 10 9$HS & 3 # g &t nifast Serf g

1.50J
2. 125]
3.300J

4.100J

Correct Answer :-
e 125]

10) An electron of mass ‘M’ initially at rest moves through a certain distance in a uniform
electric field in time ‘t;’. A proton of mass ‘N’ also initially at rest takes time ‘t,’ to move

through an equal distance in the same uniform electric field. Neglecting the effect of gravity,
the ratio t, / t; is equal to: /

SSOHT ‘M 9Tl U Saae T URH # fIsmdrawy ) @ <Y te 9o fagya & & awa
‘t,” T U T3 g3t A v o1 8 | N SSTHT areT U Werd Wt siife sy o
fagmrawT ® Yed1 8, 99 fagyd &3 U U gl @ TiauE 89 8 9HY <’ aar gl
TF@THYUT & YHTT DI SUET Y §U, SUT ¢, / t, TP aRIR o:

1. 1836
2. V(M/N)
3. V(N /M)

4.1

— Correct Answer ;-
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U &1 TN faad (@ae) FFUAITR! b SR fHar e 3|
1. high specific heat / 3= fafRry SHeam

2. low specific heat / g fafRy Sem

3. low density / @ H Ydd

4. easy availability / ST YTl

Correct Answer :-

« high specific heat / 3= fafR1y 31

A radioactive substance has a half-life period of ‘T’ years. The time taken for 6.25% of
the original number of atoms to remain unchanged, when the substance has been undergoing
decay is: /

e fearyHf uerd &1 srufg &1e <7 ad 81 srafvafda e & fore wrmmvpen «t g
AT F 6.25% GRT T TIT THY [T B<, Safb gard &7 &4 3t T 8:

1. 4T years / 4T Gl
2. 6T years / 6T CL
3.2T years / 2T Gl

4. 8T years / 8T CL

Correct Answer :-

« 4T years /4T Y
www.FirstRanker.com



:l » FirstRanker.com

l --Firstranker'scholee . S —
www.FirstRanker.com www.FirstRanker.com

Wq 13T $THH & [P W IN BT 96 ST a7 8, df e &) U g1 areT @vol 8:
1. 980 m/s> / 980 T2

2. 1000 m/s® / 1000 HI/H2

3.9.8 m/s2 /9.8 HI/42

4.1 m/s2/18/~A2

Correct Answer :-

. 1000 m/s2 / 1000 H/A2

A car of mass 1000 kg is moving with a speed of 10 m/s along a circular path of a radius
10m on a level road. What must be the frictional force between the car and the road so that
the car does not slip?/

1000 fHENUTH STHE $t TP BR 10 HI/H Bt 919 A TH JUTE IS& W 109 B &
T UY TR I Tl 8| PR 3R TSP & o giur 9 1 i1 I1fee arfe St fraa
Tg1?

1. 102N
2.10°N
3.103N
4.10*N

Correct Answer :-

. 104N

An aeroplane flies 200 km eastwards, then 300 km northwards and then flies back
straight to the starting point. If the speed of the aeroplane throughout the journey is 500
km/h, then its average velocity is:/

TS ga1s weTo 200 fredt gd ot 3w, fihv 300 forrft IR &Y 81 Isan 7 3R b= amuw
TR fig &1 MR I WRaT 81 afe It ar & SR gars sigTe &1 ara soofdwi/der
2, dY 3T 3 AT BN

1. 400 km/h / 400 ToHl/deT

2. 100 kmv/h 7 100 fohHI7g el
www.FirstRanker.com
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4. 500 km/h / 500 TopH1/ GeT

Correct Answer :-

o Zero/ [

A wire of length ‘L’ and radius ‘r’ is fixed at one end and a force ‘F’ applied at the other
end produces an extension /. The extension produced in another wire of the same material of
length ‘2L’ and radius ‘2r’ by a force of ‘2F” is: /

TS dR b1 T R IR fRR foam mar ok gak R W 3@ 'F @vman o v
faaR I g3l JuT verd & dars 2L SR fAsur 21 91 U 3=y dR | 2F 94
RT3 faaR ghm:

1.12
2.L
3.2/

4.4/

Correct Answer :-

e L

If y = 5 sin (0.05t + 0.05) gives the equation for a simple harmonic motion where ‘y’
represents the displacement at the instant‘t’, then which one of the following gives the
frequency of SHM? /

T y = 5 sin (0.05¢ + 0.05) , TH YIS AT A P g FHH01 a1 8 FBorH <y &1 't wR
ey @1 gufar 8, d Frafif@d # @ S caueeH & rgfy ar g2

1.2 x 0.05
2.0.05
3.0.05/2n

4.5

Correct Answer :-

« 0.05/2n

Which of the following substances has the highest elasticity? /

fFrafafaa 7 @ g uerd & yarerar 99 i gidi 82
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2. Aluminium /Q?I&Iﬁ’q'q

3. Copper / €T

4. Steel / UId

Correct Answer :-

o Steel / SYId

20) On a smooth floor, a ballet dancer is spinning with an angular velocity of 20 rad/s about
a vertical axis with her arms folded. When she stretches her arms fully, the spinning speed
decreases to 10 rad/s. If ‘I’ is the initial moment of inertia of the dancer, then the new
moment of inertia is /

% fadit 98 W, T 9d P! U digl Ht Misd §U TP TIad 3H&f UR 20 rad/s &
DIV AT & 1Y THT 8 | 919 98 U1 9igl Bl I ave A @i <ot ¢ al ISP A1 10
rad/s 9P UC STdl g1 TS v, Tdd! BT URIUS Tsaryyl 8 d@f a1 STsaryv! &:

1.12
2.13
3.21

4. 31

Correct Answer :-

21) The kinetic energy and potential energy of a particle exerting simple harmonic motion
of amplitude ‘A’ will be equal when displacement is:/

3TATH ‘A’ & OIS 3T A B Wiad a1 Tb BT 1 TSl SHolt 3R GHIAT SHolt
AT gifY, i faITa= g

1.A/2
2.2A
3. A2

4. A N2

Correct Answer :-

« A2
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distributed over its circular cross-section. If the magnetic field induction at the surface is
“B”, then the magnetic field induction at a distance 1.5 mm from its axis will be:/

3 firedt s arer T dar, Wan, 31 41fa® aR SiA TR SUR-$Te IR 94 Y
¥ faaf¥d YRT &1 954 H3a1 81 Tf Tdg W ga&1g &F 0T "B B, A ST & F 1.5
forft Y gt W gaata &= T g

1.2B
2.B/2
3.B

4. 3B

Correct Answer :-

« B2

23) A helicopter of length 10m rises vertically up with a speed of 20 m/s. If the

horizontal component of earth’s magnetic field is 1.5 x 103 T, then the e.m.f. induced
between tip of the nose and tail of the helicopter is: /

10 {23 P AaTS 91T TP FAIBIPR 20 HICYASHS $1 910 I 69dd SHUR 31 3R I5dT 2

gfe gl & e 1a 851 o7 AfdS 9 1.5x 1073 T 8, T SNDIPR & 3FT R UY & &9

1.5V
2.03V
3. 150V

4. 125V

Correct Answer :-

« 0.3V

24) The magnetic field of earth at a place is Bg and the angle of dip is 8. A horizontal
conductor of length ‘/ lying in the magnetic meridian (i.e. in the magnetic north-south
direction) moves eastwards with velocity 'v’. The emf induced across the conductor is: /

forelt =T W g &1 e & Be 3 3R ST ATETa Hivr/Afa Hur (T e f3u) e B
YaPIg AT (AT a1 SuR-aferur faxm #) # fRya 7 a1 aran &fos ¥4 | v@1 e Jaes,
AV F 914 T $ 3R g1 81 Iras | IRT STHTE §:

1. Zero / ][

2. Bg/vsin©

3. BE/V
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Correct Answer :-
e Bg/vsin®©

25) An object is placed at a distance of 28 cm from the mirror. If a real image is
produced at 28 cm from the mirror, then the magnitude of the focal length of the mirror
is: /

<qur & 28 T Bt g WX U g v ol 71 afe giur & 28 St IR U arafae ofd
fafifa gt 2, @ ol &) wied @98 &1 ufRkaT 3:

1.30 cm

2. 15 cm

3.28 cm

4. 14 cm

Correct Answer :-
e 14 cm

26) In a Young'’s double slit experiment using red and blue lights of wavelength 600 nm
and 480 nm respectively, the value of ‘n’ for which the nth red fringe coincides with
(n+1) blue fringe is: /

4T & fgr Wa1-fisg AT & HH: a3eH 600nm 3R 480nm aTel ATA 3 Heft A=t

T ITANT HYA §Y, “n' BT HIF J1d Y, R R o9 a1t 36, (n + 1)3 1t fibet & w1
ﬁﬁm%:

1.4
2.2
3.5

4.3

Correct Answer :-

27) In an n-p-n transistor amplifier, the collector current is 9 mA. If 90% of the electrons
from the emitter reach the collector, then what is the value of < and g? /

TS n-p-n ciforeR Ut/ TRAERR §, TITE Y4RT 9 mA 81 afe Tfires | 90% sdaeiq wurs!
TP UgTd 8, <l o 3R B BT W FT 8?2

1.0¢=9.0; B =0.9

www.FirstRanker.com



[’l » FirstRanker.com

A irstranker's choice . )
< ‘E - g-&tﬂt— S www.FirstRanker.com www.FirstRanker.com
3.x=0.9;B=9.0

4.0¢=0.99; B =99.0

Correct Answer :-

. x=0.9;B=9.0

28) A potential difference 'V’ is applied across a conductor. At constant temperature 'T’,
the drift velocity of electrons through the conductor is proportional to: /

TS fAHTTaR v U Ya8® (Fsae) | EIRT oIrdT ¢ | fad aad = 17 R, Hared &
AT A SATCII BT UFTE I SHP SATIUTAD gidl o

1.V
2.T
3T

4.\V

Correct Answer :-

eV

29) A galvanometer of resistance 2019 is to be converted into an ammeter of range 1A. If
the current of 1mA produces full scale deflection, then the shunt required for the purpose
is: /

20Q UfoRIY aTel Tk Aed=IHIeR Bl 1A & ¥ a1d THITY # FUidid 1 81 afe 1mA
F YRT guf TN W f3&qor Uer Hdt 8, a1 SExT & fore oy e 3:

1. 0.03Q
2.0.02Q
3.0.01Q

4. 0.04Q2

Correct Answer :-

« 0.02Q

30) An astronomical telescope has an objective of focal length 100 cm and diameter 10
cm. Its eye piece is of focal length 5 cm and diameter 4 cm. If the telescope is in nhormal
adjustment, then the angular magnification is: /

- : - www.FirstRanker.com R R
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mol’' K~ 1, then the boiling point of liquid will be: /

gfe TP dRA & aTuiiHur & TAT 30 kI mol™! § 3R arsfiwrur #1 T=eidl 75 3 mol”
1K -1 8 @ 9Rd &1 YD gI:

1.400 K
2. 600 K
3.450 K

4. 250 K

Correct Answer :-

« 400 K
6) What would be the total number of electrons in an atom having the quantum number

n =4 and spin value =—1/2?/

HicH BT n = 4 3R R M = -1/2 A TH WRATY] F SATGCI Dt A WS R HIT?
1.18

2.16

3.25

4. 27

Correct Answer :-

7) What is the total number of Elastomers for the given polymers:

Polystyrene, Vulcanised rubber, Neoprene, Glyptal, Polyisoprene, Polyvinylchloride,
Buna-N, Melamine?/

2 faw 7T sgae! (uifer) & e wearRrae (gaReTRY) 3 po T E:

N, ﬁamlsq?

1.4
2.5

3.6

www.FirstRanker.com
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Correct Answer :-

8) What is the mole fraction of ethyl alcohol in the solution containing 40% C,H5OH, 20%
CH3O0H and 40% H,0?/

40% C,HsOH, 20% CH;0H 3R 40% H,0 aTd faera< # SUTSH Uedied oI HId-3i=T F1
87

1.0.23
2.0.40
3.0.39

4.0.47

Correct Answer :-

« 0.23

9) Name the crystal system in which none of the axial lengths are equal but all the axial

angles are 900, /

39 fopTed yummelt &1 918 1 8 oA 18 Wt srefta dard Jar= =8t gl 8, afe= 9t
3refta w17 900 B B

1. Cubic / 941G
2. Tetragonal/ fg TOCEI&r (CERT)

3. Hexagonal / wﬂﬂﬂ (%a'_\‘:l'l"'h:lﬁ)
4. Orthorhombic / fAuHGaTe

Correct Answer :-
« Orthorhombic / favHcaTe

10) Salt A when treated with conc. H,SOy in presence of chloride salt B, gives orange red
vapors. What is salt A?/

AU A B 99 FARTSS |qUT B &1 IufRUfa & Hig H,S0, & A1Y Iu=TRd fhar Sirar g ot g8 I
STel 9T T & | 90T A T 872

1. KMHO4

www.FirstRanker.com
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16) Which one of the following is IW&LY"VQ actor wﬁicﬁi lnmlences forma\{\ll(')n 0? 1onic oﬁ((:ls‘.m/

fAufafEd § 9 P19-91 U6 SRS 81 & Sl AT ATEY & TS B YU HIdT 82

1. The coordination number of the cation must be high. /

YT 1 JH-GY AT I B ANg |

2. Lattice enthalpy should be high. /
ST et 3 g A1fgul

3. Electron gain enthalpy of the atom forming the anion must be highly negative./
FUIH §9 aTd YA BT SAdei- a1y T dgd e THRIAS giH1 AUl

4. The ionisation energy of the atom forming the cation should be low./

ST T aTel URATY] &1 STIHIHRUT SHoll HH g dley |

Correct Answer :-

» The coordination number of the cation must be high. /

¢TI D FHGY AT 3= gt dlgT|

17) Which one of the following anions is not stabilized by resonance? /
Frafafad # | #19-91 B srgATe () gRTRR T8 82
1. Mn04_

2. RCOO"

3.NO3’

4. CO3%

Correct Answer :-

18) Which one of the following acids is also an important vitamin needed for healthy
growth? /

fFrafafad 7 @ F19-91 ve o W AT & fore smawas faerfaa i 82

1. Glutamic acid / W ST
2. Ascorbic acid / QE’T\IJ'% 3T

3. Aspartic acid / me &I

www.FirstRanker.com
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Correct Answer :-

o Ascorbic acid / QWW 3T

19) Which of the following solutions will show the negative deviation from ideal behavior? /

frafifea § @ S19-ar faee snexf sraeR & RS faga fe@mm
1. Mixture of benzene and toluene / SSii 3fIR E’IFIQ:T CAREEY

2. Mixture of ethyl bromide and ethyl iodide / QYIS m 3‘?[? ERIENES s 29 dhI feysyor
3. Mixture of ethyl alcohol and water / RUIS I 31Q'd>\IE§Q1 3R ST BT TR

4. Mixture of chloroform and acetone/ a?ﬁﬂ'qﬁﬁ GﬁT QF“E 7 BT foyeyor

Correct Answer :-

o Mixture of chloroform and acetone/ W GﬁT QQ'E ek AR

20) Which of the following is the isotone of 32Ge76/
Frafafad 7 | S19-97 3,676 BT ISP (3TFHCH) 82
1. 32Ge77

2. 33As77

3.368078

4, 34SC77

Correct Answer :-

21) Which of the following is the correct relationship between atomic radius and edge length
of face centered cubic unit cell? /

Frafafad 9 | @19-91 wa) Bsar 3R wae SHigd 91 15 9d 31 DR ad1s &
& 98 ddu g2

1.r=a/2\2
2.r=V3/4 a

a

[
3. T — VO .d

www.FirstRanker.com
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Correct Answer :-

e r=a/2\2

22) Which of the following pairs is Lewis acids? /
frafifaa § @ #9-a1 g g9 s 82

1. NH4 ", BCl,

2. BCl;, FeClj

3. AICl; , HyCO;3

4. HCI , HNO;

Correct Answer :-

. BC13, FCC13

23) What would be the wavelength of a subatomic particle having a mass equal to that of an
electron and moving with a velocity equal to 4.10 x 107 m/s?

(h=6.63 x 10~34 kgm2s1)/

TSP IU - RHTUGS HUI B aaireed Fa1 Tt st soaW= U saac< & JHIH 8 3R
4.10 x 107 m/s & THTT A & ATY TeldT 872

1.1.01x10722 m

2.0.18x 10712 m
3.1.78 x10711m

4,10.1x107%! m

Correct Answer :-
e 1.78 x107m

24) Which among the following products is formed when Ethanal is treated with drops of Conc.
H,SO4 at 298K?/

oI TAATA P 298K TR Hig H,S0, Bt g & HIY SUATR fobar sirar g af fAfefaa #
| PiF-a1 It fAffa g

1. Ethyl hydrogen sulphate / TUTSd gISSIol- Jatha

2. Paraldehyde / TRTIfCSBIZS

www.FirstRanker.com
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Calculate the bond energv of C = Cin acetvlene in the following reaction :
2C(s) +Ha(g) = CaH2 AH =225 kI mol -1

Given that enthalpy of sublimation of carbon is 710 kI mol ~! and bond energy of
C —H and H —H bonds are 350 kI mol-!and 330 kI mol -1/

faeatataa sfafear & vdifeelim & C=C &1 gles FAT &7 70T HIfFT:
2C(s) +H2(g) > Ca2Ha AH =225 kJ mol !

fear amar 8 Fde & Feduae & tedted 710 kI mol - 18 3R € - HUd H - H 3asit
$T d@les ST 350 kT mol - 1 3i 330 kI mol - 1 1

www.FirstRanker.com
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Give the IUPAC name of the organic halo compound. / CAGIGED gol Iifde @1 IuPAC ATH

S|

For a first order gas phase reaction : A; 22B:+ C: P0 be the initial pressure of A and Pt the

total pressure at time ‘t* . Integrated rate equation is: /

Ud YU @ife g graer sfATET A 22B:.+ C: PO & v yrRfENeE gag A 3R
AT U W Pl od Pril Thipd o GHIaRT &

2.303 2P0
k= log
t JP0O—Pt
2303 2P0
k= log
t 2P0 — Pt
2.303 PO
k= log
t 2P0 — Pt

www.FirstRanker.com
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g
t C8pg_pt

10 mole of Nitrogen and 30 mole of hvdrogen are mixed togetherin a litre container. If 25% of

nitrogen is converted into ammonia in the given reaction. Then, total number of moles inthe

container are:

Nafg) + 3Hz S 2NHJf

Asclad & 10 Aer 31k gBsiad & 30 Al & v ofiet e’ #H v ary AfE
frar Smar &1 afe & 5 a7 25% asees, s & oRefda g o B
At e 3 Al B For T &

Nag) + 3H2 +~ 2NH:z

www.FirstRanker.com
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2P+HQ =>5+T
P+Q = R+S (slow)

P+R T (fast)

The rate law expression for the reaction is: /

utaferar & fow Gharfafa & & 5 &

2P+Q 2>5+T

P+Q = R+S (A

P+R =T (a=1)

sfafenar & e @@ @9 o9+ (Y & veamE) &

The polarity of the coding strand is: /

IS TP (PIET S) T ydtaar (i) gl ¢
1. Either of the two directions /;ﬁ:ﬁ 7 fosadt off fa=m H
2. Both ways /@ 3R

What is Wobble Hypothesis? /
- - www.FirstRanker.com



:l » FirstRanker.com

N Eirsipabarinhe
Ie hﬁ%ﬁr‘ﬁiﬂ'ﬁ? www.FirstRanker.com www.FirstRanker.com

1. Degeneracy of a small gene / BIC S &1 3Y: ga-
2. Degeneracy of the 2" base / 2% ST BT Y I

3. Degeneracy of the 3 base / 3§ S BT Y G-
4. Degeneracy of the 15t base / 1% a9 &1 3f¢: Ta=
Correct Answer :-

« Degeneracy of the 3™ base / 3% o BT 37Y: JaA

Morphine and codeine are extracts obtained from a hallucinogenic plant. Which of the
following is a source of morphine and codeine? /

Hifth 3R BIEH TP sTqAIHTe gy | Urd o &1 Fruferf@a # 4§ 1= /it
3R PISH HTTH Hid 82

1. Poppy / U1l

2. Cocoa leaves / CAEAR S
3. Cannabis /W

4. Penicillin / OfRfer

Correct Answer :-

e Poppy / TRl

The presence of is responsible for making the stem woody in dicot plants. /

o1 U, fgfiora=ft fel & a9 3t Frfta a9 & fore Iqaverd! 21

1. closed vascular bundle / {-iq<1 {-id‘é'"lnl ded

2. conjoint vascular bundle / §gdd Hdg-l SSd
3. radial vascular bundle / fSad Tagt dsd

4. open vascular bundle /gl {-idsdnl sSed

Correct Answer :-

« open vascular bundle / g Hag-il sed

The plant that has been used for the synthesis of Hirudin using biotechnology is: /

oI MR @reEtarc) ST SUUNT Hd §U SIPeH & HAWUT & fore Sz faran

T aEATNETe

www.FirstRanker.com
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2. Brassica napus | NPT F7G
3. Gossypium | TrIrgTE
4. Zea mays | forar g1

Correct Answer :-

« Brassica napus | FNYPT 795G

6) In an aquatic food chain, the maximum biomagnifications of DDT can be seen in: /

TP ol WTel §adr H, SIS & Sfirean via sias= a1 Sasmadfaor
@ERRIESR) &1 9§ <@ o1 9%l 8:

1. Zoo planktons / UTOMAG@Id® (S Widhe)
2. Small fish / BTt Heail

3. Fish eating birds / F&a @ aral yfért
4. Large fish / SI HZat

Correct Answer :-

 Fish eating birds / A3l @ ard afégt

7) A cross between pure tall pea plant with green pods and dwarf pea plant with yellow pods
will produce how many short F, plants out of 16? /

& Wil aTdl Y& e TexX P WY 3R diel Wil arat O HeX & N & AT HHR, 16 W A
fraq B¢ Fp T Iqufea w2

1.9
2.4
3.3

4.1

Correct Answer :-

8) In which of the following types of succession, lichens are considered as the pioneer
species? /

Frafafaa o 3 59 UeR & srgwaur &, agd (@are) &1 srroft werfa amET sirar 32

1. Xerarch / LhaRH BR1&) e o
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frrafetaa 7 & fead o1% srafy Teieud ¢l giar e?
1. Castor / X (3R3))

2. Black pepper / BTa

3. Pea / AT

4. Barley / STl

Correct Answer :-

e Pea/HXR

Which of the following hormones is used to control apical dominance? /

fFrafafad # @ ®19-91 g, SRR YT (Uiied SiH—e) o Fafid #33 & e
SN fomar ST 82

1. Ethylene / T

2. Cytokinin / HTelfd i~
3. Gibberellins / FTeRclA
4. Auxin / eI

Correct Answer :-

e Auxin/ W

Which of the following statements is INCORRECT regarding food preservation by
sugaring method? /

TR faft gRT W WRevr & ey ¥ Fafafea d @ sR-ar sy Tad 82

1. This process leaves the microbial cells dehydrated and kills them. /

Tg Ufthdr Y& IR o) Fsiferd 1S <l 8 iR 3% AR S 81
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W U § 3 W1 dTel RG] (Je 19 B po oI gl ¢:
1. 120
2. 200
3. 100
4.220

Correct Answer :-

« 200

Which among the following is NOT an asexual spore seen in plants? /
Frafafea & @ o19-ar didl § dar o aren srdfie ferg 751 32
1. Akinetes / F9¥ TsﬂTrHUl (QFﬂE)

2. Zygospore / THTY] (SITSTIRIR)
3. Aplanospores / STASGIY] (TIATRYIR)
4. Zoospore / AASTSIY] (TIR)

Correct Answer :-

e Zygospore / JHIT] (Gl'IEThFﬁT)

Which of the following plants shows archegonia-female reproductive organs? /

fFrafifad & @ S19-8 9 Werh-arer g o &) gxrfar 272

1. All of these / STYad T
2. Pinus only / PHad BIERR}

3. Selaginella only / Had Jafomar

www.FirstRanker.com
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Correct Answer :-

« Al of these / STYarT Tt

The first stable compound to be produced after nitrogen fixation is: /

Arsg e fRfH0  a1e Squifed 819 aren ugen fRR A &:
1. Glutamic acid / TCTHD 3

2. Nitrate / T3¢

3. Ammonia / 3T

4. Nitrite / "I{CILC

Correct Answer :-

e« Ammonia / T

Which of the following is NOT an inclusion? /
fraffad # @ P19 TP THRYA (GREH) Tel 82
1. Gas vacuoles in bacteria / a?ﬁﬂm H ﬁﬂ W
2. Cyanophycean granules / WW@H mﬁ
3. Vacuoles in plant cells / UTcd PRI H Rfdaend
4, Phosphate granules / WW&

Correct Answer :-

 Vacuoles in plant cells / UTqU CAIREIEIR: mﬁ

The chemical composition of chromatin is: /

PR Bt I T 5:

1. DNA, histones and non-histones only / W DNA, %@7‘[ 3‘ﬁ? ﬁ?—%@q

2. DNA, histones, non-histones and RNA / DNA, %@:{ 3R ﬁ_\"—%@:{ 3R RNA
3. DNA and histones only / W DNA GﬁT %@7‘[

4. DNA and RNA only / ad DNA 3R RNA

Correct Answer :-

« DNA, histones, non-histones and RNA / DNA, g9 3R TR-fGEH 3R RNA
www.FirstRanker.com
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18) Which among the following cells of embryo sac do NOT take part in embryo formation in
angiosperms? /

YOI By 3t Frafafea sikmerst § & o= gt # yor fAafor § ymr =98 ad 82
1. All of these / JTGad Tt

2. Egg cell / 38 BHIRIHT (T I)

3. Antipodals / Ufaga® (TS a)

4. Central cell / S5 BIRIBT

Correct Answer :-

e Antipodals /U'[%TW [ dursq)

19) Which of the following characters is NOT true for tRNA? /
fafafad d | $19-91 7801 (RNA & g I 781 82

1. Its role is to carry amino acids to mRNA codons. / S q-ﬂll-lm AT TRIS & mRNA DISH H o S
Eild

2. Its shape is clover leaf-like, folded into L shape. / T8 L TR H GST g3 FalaR g forafaan & ot o
THR HT gl g

3. Life is very short, 2 minutes to 4 hours and degraded after translation. /
et 98 31ed, 2 fiFe 9 4 902 &1 gid § 3R RIMTARUI & 16 F=iidd &1 Sl 8|

4. There are about 60 types of tRNA. /Eﬂﬁ U 60 UBR B tRNA Epfa %I

Correct Answer :-

o Life is very short, 2 minutes to 4 hours and degraded after translation. /

et 58 3rey, 2 e ¥ 4 902 o1 g1t § 3R RIMTARUl & a1 =it 81 St 8|

20) Which of the following organelles shows similarity to a prokaryotic cell? /

Frafafad & 3 S19-91 SFTE T NibRaies HHRIeT $t avg TudT g21idr 82
1. None ofthese/gqﬁﬁmﬁ
2. Mitochondria only / ad ﬂ@ﬁ%’m

3. Chloroplast only / ddcf delRIIIRC

4. Both chloroplast and mitochondria / FARIEIRE 3R Hlsd\ld)\lllr'\gql aHl

Correct Answer :-

» Both chloroplast and mitochondria / deTRTWIRC 3R Hlsdlw‘l%m alHl
www.FirstRanker.com




:l » FirstRanker.com

l --Firstranker'scholee . S —
www.FirstRanker.com www.FirstRanker.com

What is the position of snake in the given food chain?
Grass = grass hopper = frog =2 Snake /

&1 91 Wiy Hger # |9 & Faid = g2
gg-> Tssr > A > T

www . FirstRanker.com
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4, Chromatid / HlcS

Correct Answer :-

o Chromatin / pafeT

Saccharum barberi and Saccharum officinarum are different varieties of: /
HPvH TRV ded sifvlavagas fafva fad §:
1. Sugarcane /Al
2. Maize [ HdbT
3. Wheat /ﬂ'é’l
4, Rice /dldd

Correct Answer :-

e Sugarcane /Tl

Viruses are exclusively )

R (fqury) fRie w9 d__ §1d §)
1. saprophytes / HﬂTrﬂEﬁ
2. parasites / TRoita!

3. all of these / TG d Gt
4, autotrophs / [aIftd

Correct Answer :-

« parasites / PRIl

www.FirstRanker.com
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CIsWIgS: fauy
2. TB : bacteria / 1.1 ST

3. Ringworm : fungi / Qlq: dhddh

4. Potato spindle tuber disease : viroid / 31Tq ST caR INT: AERISS

Correct Answer :-

« Typhoid : virus / CISHIES: fAuTY]

During which stage of mitosis the spindle fibres are formed? /

TG Ay (AR & 59 o & SR Risa g (PreeR) 994 82
1. Metaphase / TYTTIHAT (HTh)

2. Anaphase / GHTART (TATH )

3. Prophase / u;:ﬁa“\:[m (;h%r)

4. Telophase / TelIth (Ed\lcb\ﬂ)

Correct Answer :-

« Metaphase / AHITGHYT (HeTho)

During mRNA synthesis , the unwanted DNA regions are removed and amino acid coding
regions are joined by the process of: /

mRNA TR & R, e ufdpar gr1 saifesa Sieaw st (o) 3t ger faar rar & ok
T o & ped TS (IS Hew) sie R &1 &

1. Capping / 3¢ (aﬁﬁTD

2. Termination / HHTU (‘dﬁﬁmﬂ)

3. Splicing / JHEYH (w gl HQTF‘IT_{@ITD
4. Methylation / AR (RydAESIH)

Correct Answer :-

. Splicing / FHsYH (AR a1 YUTTZRIT)

The process in which the cells are derived from root apical and shoot apical meristems, and
cambium undergo few to major structural changes both in their cell walls and protoplasm is
known as: /

www.FirstRanker.com
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STar g |

1. stomach layer / SHIRIT URd (XCHD Q-'\RN)
2. liver /9pd (laR)
3. simple epithelium / IX 3Uh T (ﬁiua Qﬁ[?ﬂm)

4. compound epithelium / Sg&R IUD N (HHSTS Tuiferad)

Correct Answer :-

« compound epithelium / Ig¥R Ul (HH3US Tudiferay)

4) The volume of air inspired or expired during normal breathing is: /
T 4T & SRTH &l TS I1 DIST 15 a1g HT 3M4d o

1. Residual volume / W&I’Q SAAd

2. Expiratory reserve volume / IBELSE! ﬁ?‘f\&‘lﬁ A

3. Tidal volume / SARIT 3 (CI3Sd dlegH)

4. Inspiratory reserve volume / 3{d:Xa9- RI&T T

Correct Answer :-

« Tidal volume / SARIT 3TId (T3S d aVT@:f)

5) AIDS cannot be transmitted through: /

USH 39 gRT b iid 8] 8l g&dl o
1. Sexual contact / &I TUH

2. Blood transfusion / YT

3. Mosquito bites / HSX hI dICHI

4. Placenta to foetus / SIS Hur

Correct Answer :-

« Mosquito bites / HwdX [ dICH]

6) Name the layer in the wall of the stomach that contains nerves and blood vessels. /

STHTIE P AR & I TR P11 Seree R dfer 3R T arfespTu gl B
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2. Mucosa / RTSH AT (e I4T)

3. Muscularis mucosa /Wﬁﬂmﬁ'ﬂw
4. Sub mucosa / 3U TASHH AT (T T4

Correct Answer :-

« Sub mucosa / 3U TASHDH AT (e Th 1)

7) Name the gland that is affected due to insufficient intake of iodine. /

I U BT ATH FATST S ATASH & YT T & HRUT GHTIAd it 3|
1. Pineal / UiOQ

2. Pancreas / SRR

3. Thyroid / 3{dg (YRIRTTS)

4. Adrenal / 31’@@%

Correct Answer :-

. Thyroid / 3{dg (YTIRTTS)

8) A muscle that does not respond to stimuli at all is said to be in a state of: /

w?ﬁﬁﬁwmgﬁwﬁwuﬁmqﬁﬁ?ﬁ%@ o! feufa & o
EIGIE

1. Tetanus / Y™ (ﬁ?ﬁﬂ)
2. Summation /ﬂﬁ'ﬂ:{
3. Rigor morﬁs/waﬂm (R miféw)

4. Fatigue / YT (tb_cﬁT[)

Correct Answer :-

» Fatigue / YhId (tb_cﬁT[)

9) What of the following acts as a part of biological catalyst in human body? /

fFrafafad & Q a1 A IR & SIfde IAS & TP HRT S U A S HdT 82

1. Fats / 9T
2 _Carhahudratas /?HIﬁE‘IE%?"
Y 7 =3

www.FirstRanker.com



[’ll FirstRanker.com

3. \Filﬁ-'fﬁﬁ’?s“/ |ag||ﬁl|nice www.FirstRanker.com www.FirstRanker.com
4, Sugars / ¥ $?|

Correct Answer :-

. Vitamins / faeTam

10) Finger like projection called fimbriae is found in: /

JTTelt ST afgerd HRT ford ffsT (fimbriae) 84 €,
1. Cervix / TtaT (T

2. Infundibulum / H1U® 1 HITHAN (ShelgaH)

3. Isthmus / T IURTATSID AT RIASHE AL ()

4. Ampulla /‘gﬁw (W)
Correct Answer :-

« Infundibulum / BT TT PIUHN (TWregeH)

H U AT 2

11) Human blood grouping is an example of: /
HIAG Yad JHg WW33I6?UI%I
1. Three alleles governing a character / A&Ul (WT) P! FAEd & arar diF f[adbedt (Q?ﬁﬂ)

2. No alleles governing the character / C1&Ul (WT) CIREUIER aﬂﬁwﬁs‘ 1} fasm et
(Wefter) =Tt

3. Two alleles governing a character / CI&Ul (W) P! O B3 arar & fas et (QT*ﬂa)
4. One allele governing the character/ CI&ful (W) CARRRIECE TS ISR CACETL] (HEﬁFI)

Correct Answer :-

« Three alleles governing a character / C1&Ul (W) &1 [FfEd BA gt diF ot (Ef?ﬂﬂ)

12) |dentify the hormone released by heart. /
€&d §RT ¥dIfad gH- &1 Ugdr &1 |

1. Gastrin /ﬁ@:[

2. Secretin /ﬁa;%:[

3. Erythropoietin /Qﬁ'?ﬂl g QIET—I

4 Atrial natrivratic factar /I el i(kvi'a §| ﬁlﬁ]siﬁ?ﬁ e IRNe2)

www.FirstRanker.com
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« Atrial natriuretic factor / 3fifeig AfcqRfed RS

13) The organisms which invaded the land first are supposed to be: /
g foreia wduyd Yy wR o= far ur, 3 = €
1. Plants /tﬁﬁ

2. Animals / UY]

3. Bacteria / GﬂaTUl
4. Virus /ﬁw

Correct Answer :-

o Plants / tﬁ‘a

14) The phase of estrous cycle at which pheromones are secreted is: /

S I (T AISfPd) P w1 iS5 ) $RIAA H1fdd giar &:
1. Diestrus / STUICY

2. Metestrus / HagM (HUY)

3. Estrus / H& (YY)

4. Proestrus / Y

Correct Answer :-

« Estrus / Hq (T¥H)

15) The current population growth rate in India is alarming. The way/s to keep it in check
is/are: /

YRA § TdHH JET 9is &% YA g1 59 fHafad veq &1 R ¥ie/a8is 8
1. By increasing marriageable age only / dad faarg g Y delhr

2. By educating people about consequences of uncontrolled population growth only / FHad

ST ST gfeg & UROIHT o IR | #0111 Dl fRAférd Hrap

3. All of these / IRIad gt

4, By promoting use of birth control measures only / bad S 80 IUTT & IYTNT Dl deldl
E

Correct Answer :-

www.FirstRanker.com
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16) According to the immune theory, the damage and destruction of cells of the
result in decreased immunity, which results in more diseases. /

wfarem 37) Rigid & oruR, ot BN $t afd iR far &
ufuma=u ufaren & &Y el 8, e uumasasey siftre I 8id 21

1. adrenal gland / Sff¥qded UfY

2. thymus / YISHY
3. spleen / foreedt
4, pineal gland / uifrae i

Correct Answer :-

o thymus / YIgHY

17) A gene of interest is cloned between Pst I and Pvu I sites in pBR322.The resultant
plasmid has the ability to grow in medium containing antibiotic. /

pBR322 H Pst 1 3R Pvu I TITT & T TH S 3HTH Se¥e I Tl (baT SIra g | TRomt
wifers o ufawifa® gaa ATead § gig H3 B &Har gl g1

1. ampicillin only / Had w@l?ﬂ:[
2. none of these /m—oﬂﬁ @rﬁéﬂﬁﬂ

3. Tetracycline only / FHad é@\’l’ﬂﬁf&ﬂ:{
4. both ampicillin and tetracycline /Q‘lﬁﬁﬁﬁ:{ Gﬁiéwsﬁﬂqfﬁ—"ﬁ

Correct Answer :-

« Tetracycline only / FHad é@\’l’ﬂm

18) In the menstrual cycle, lowering of which hormone causes menstruation? /

AR o H, fod g & o8 g1 | 91Re o giar 82
1. Progesterone / TToRCIA

2. Thyroxine / UTARIfRI

3. Estrogen / TGS

4. Follicle stimulating hormone / WTciehel RETIATST BIHM

—_Correct Answer :-

www.FirstRanker.com
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19) In which Group the mode of reproduction is only Sexual? /
o ae ® vor @t faf daa dfire 82

1. Ctenophora / SABRT

2. Porifera / TINTRT

3. Protozoa / m\?ﬂ

4. Coelenterata / ?ﬂ?@ﬂ

Correct Answer :-

+ Ctenophora / CHIBR

20) Which of the following is NOT a feature of a cancer cell? /

frafafad 5 @ -3 FR Sk ot fa=ivar 78 82

1. The cells remain confined to a particular position. / CAIRIGE VQ Tdh fovy fufa a6 é’f iftrd
Bl gl

2. They have lost the property of contact inhibition. / J TR deHA (d>TfédC LR ) & ‘IUT%Iﬁ
CARCIGIS

3. They exhibit metastasis. / 9 QIR (HCRSAY) T UGH B 8 |

4. They do not undergo differentiation. /é’ﬁﬂ?ﬂ ( S TR ) | Té’f!!aza %I

Correct Answer :-

 The cells remain confined to a particular position. / HIRAD VQ % oy fRUfd I gt ifea
Bl g

21) Which of the following is an ex-situ conservation method for the conservation of
endangered species? /

Frafafea o 3 sF-dt quwmr yerfaal & 3vevr & e e R-amie (Te-dig)
T fafdr g2

o

1. Biosphere reserves / STaHSd HER (FRIRG IR F97d)
2. Cryopreservation / e aftweron (Wﬁ?ﬂa‘-ﬂ:{)
3. National Parks /W@HW

4, Sanctuary / ¥RTY

Correct Answer :-

www.FirstRanker.com
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22) Which of the following is an edible fresh water fish? /
frufafea # & 19 @™ arvg @S urt (b arex) 91 7o o2
1. Sardine / HIR SIg

2. Hilsa / %ﬁ‘:ﬂ
3. Mackerel /ﬁw

4. Common Carp / P B

Correct Answer :-

e Common Carp / P B

23) Which of the features is NOT the basis for the broad classification of Animalia? /
THaAferT & ue aiffevur & forw -t fagivar snyR =) 82

1. Levels of organization / 34 P TR

2. Symmetry / qHfHfd

3. Body cavity or coelom /Q]TW el a1 Uiel (@’TSQI W gq] W)

4, Locomotion / ITHA (Fhﬁth'-‘ﬂ:f)

Correct Answer :-

o Locomotion / TTHA (W'-‘ZFT)

24) Who among the following has the greatest amount of collagen in their
body?

/ Frafafaa ¥ @ frad IR | Sidee &) gad i 7 gidl 82
1. Infants / RIS

2. Foetus / HUI

3. Aged people/ IGl

4. Adults / I

Correct Answer :-

. Adults / TTTDI

www.FirstRanker.com
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1. Sinus venosus / ATTY d-IGH
2. Auricles / 3fTfcic
3. Aorta / HETUHHAI
4. Ventricles / e

Correct Answer :-

« Ventricles / IENE]

26) Simultaneous deficiency of protein and total food calorific value, leads to a
disease in children known as: /

et o= ¥ e € 9 W WidH 3R d HieH FaR! AF $1 $H g1 IR TP SHRI 8
W<l 8, o8 e sgT wiran 8:

1. Minamata /ﬁﬂ'ﬂ:ﬂ?ﬂ
2. Marasmus / {@Tﬁ"f (ﬁTIW)

3. Klinefelter syndrome /Wﬁl@jﬂ
4. Kwashiorkor / ®IRISR®R

Correct Answer :-

e Marasmus / Wﬁﬂ (W)

27) According to world bank report (1988-95), the average life span of human being is: /
fay 3 f¥uid (1988-95) & IR, WIS $t 3Nd Siia- 3@ 3:

1. 65 years / 65 ¥

2. 75 years / 75 qy

3. 100 years / 100 T8

4. 60.4 years / 60.4 I

Correct Answer :-

. 60.4 years / 60.4 TY

28) A person, who is transfused with blood plasma proteins from someone who has been

www.FirstRanker.com
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/ T safad § Iad WSt M &1 MY (Sawgs) fovar war o1, o v o8 safaa § uend fan
a7 o fafRiy efiea & faee afpy +u @ uferfaa fear man 81 59 9w |, safda &Y
__ Wwgetgl

1. active immunity / b d UfcaRem

2. autoimmunity / SIUfdR &bl

3. passive immunity/ﬁf@‘ﬂﬂﬁ?&ﬂ
4. antibodies /Qﬂav'l?ﬁ

Correct Answer :-

. passive immunity / TSR T TfaReam

29) Man differs from Apes in having i

MEH_ NP RO R A R R 7

1. grasping hands / URIGUI 1Y

2. longer legs than arms / YST3{f &1 g1 H dd TR

3. protruding jaws / SR §U SIeTg (VIS W)

4. wrists have ball and socket joints / g Wicad] T (ST 3R Wihe Salge) ara Hargdr

Correct Answer :-

« longer legs than arms / H\_rlT&ﬁaﬁ KL ERSCACHS

30) Trinomial nomenclature refers to names
PugameRor A1 ol delfa a3
1. for taxa below the level of species / TSTIfRl & ¥R § AT a¥ids (o) & forw
2. for plant taxa / UTGU a¥ies (o) & forg

3. for animal taxa / U] G¥id (CarT) & forg

4. for microorganisms / G&HAGITAA! & forQ

Correct Answer :-

« for taxa below the level of species / gl & TR 9 ) avie (%THT) & forg

Topic:- General English

1) Choose the appropriate prepositi\xll\}\s; Vi\’,orzltpse[gglﬁl?( 8?'58%‘3
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4. From my prospactive it is not such an obvious error.

Correct Answer :-

« From my prospactive it is not such an obvious error.

27) Read the passage carefully and answer the question given below:

She came home tired late at night after dropping her son at the bus station, it was gruelling hot
the weather being humid she turned on the AC and took the mobile out of her purse. The mobile
was almost discharged, she knew the mobile charging was creating a havoc as none of the pins
of different chargers were able to fit into her mobile properly and every morning she faced the
qguandary of a meagerly charged mobile which she had to then charge in her office every day
creating a great difficulty in this digital age. She decided to put the phone for charging looking
around for charger she inadvertent/ly looked at her recent Whats App messages flipping through
her official group she read the last message which was “God Bless” , suddenly curious as to who
was being blessed she started to read all the messages and sat down with shock and disbelief to
learn that Shweta had met with a fatal accident and was battling for life in Trauma Centre.

According to the given passage, Shweta had met with

1. a fatal accident
2. lots of surprises
3. office colleagues

4. friends

Correct Answer :-

« a fatal accident

28) Read the passage carefully and answer the question given below:

She came home tired late at night after dropping her son at the bus station, it was gruelling hot
the weather being humid she turned on the AC and took the mobile out of her purse. The mobile
was almost discharged, she knew the mobile charging was creating a havoc as none of the pins
of different chargers were able to fit into her mobile properly and every morning she faced the
quandary of a meagerly charged mobile which she had to then charge in her office every day
creating a great difficulty in this digital age. She decided to put the phone for charging looking
around for charger she inadvertently looked at her recent Whats App messages flipping through
her official group she read the last message which was “God Bless” , suddenly curious as to who
was being blessed she started to read all the messages and sat down with shock and disbelief to
learn that Shweta had met with a fatal accident and was battling for life in Trauma Centre.

According to the given passage, where was she coming from?
1. Airport
2. Railway Station

3 T oang Drive
— -~
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Correct Answer :-

« Bus Station

29) Read the passage carefully and answer the question given below:

She came home tired late at night after dropping her son at the bus station, it was gruelling hot
the weather being humid she turned on the AC and took the mobile out of her purse. The mobile
was almost discharged, she knew the mobile charging was creating a havoc as none of the pins
of different chargers were able to fit into her mobile properly and every morning she faced the
qguandary of a meagerly charged mobile which she had to then charge in her office every day
creating a great difficulty in this digital age. She decided to put the phone for charging looking
around for charger she inadvertently looked at her recent Whats App messages flipping through
her official group she read the last message which was “God Bless” , suddenly curious as to who
was being blessed she started to read all the messages and sat down with shock and disbelief to
learn that Shweta had met with a fatal accident and was battling for life in Trauma Centre.

The author’'s mood towards the end of the passage is:
1. Disturbed

2. Angry

3. Confused

4. Relaxed

Correct Answer :-

e Disturbed

30) Read the passage carefully and answer the question given below:

She came home tired late at night after dropping her son at the bus station, it was gruelling hot
the weather being humid she turned on the AC and took the mobile out of her purse. The mobile
was almost discharged, she knew the mobile charging was creating a havoc as none of the pins
of different chargers were able to fit into her mobile properly and every morning she faced the
quandary of a meagerly charged mobile which she had to then charge in her office every day
creating a great difficulty in this digital age. She decided to put the phone for charging looking
around for charger she inadvertently looked at her recent Whats App messages flipping through
her official group she read the last message which was “God Bless” , suddenly curious as to who
was being blessed she started to read all the messages and sat down with shock and disbelief to
learn that Shweta had met with a fatal accident and was battling for life in Trauma Centre.

Which is the closest meaning of the word ‘Quandary’?
1. Success

2. Advantage

3. Sticky situation

4. Remove
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